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- Write in digits

a 0.7 million

5 1.2 million.

19p+27p+63p=1£
12.65km==m

2% + ?‘;' + 1% =

a 1% of twenty thousand =

o 100% of four hundred and nine =

% = 12. Find the value of x.

4

1.65m-—95cm = <m
w=Tw= %
350mlx 9= 1
4.050kg+ ¢ =5kg
35p x 100 =

970 +40= 1

How many thousandths are there in
five point zero eight?

Find the mean average of 2.7, 3.6
and 1.8,

How many times is 250ml contained
in 3.57

Increase $240 by 5%.

How many hours and minutes from
midnight to 1.45 p.m.?

Which of these numbers is a multiple
of 4, 6 and 97

| 27 42 54 63 72

What is the mass in kilograms of six
presents each having a mass of 230g?

25% of a sum of money is 73p.
What is the whole amount?

Find the cost of 50g at £2.60 per %kg.

Write the answer to the

‘nearest whole number. 7'% =

3 .
® of a sum of money is 24p.

; Find % of the sum of money.

_thé'périmeter of & square is 1.2m. Find

".é‘.”’t'hé_-._léﬁgth__df_ a side in cm

hé area of the square incm?,

£1.08
12650m
1
53
a_ 2037
b 439
72
7hcm
12 .
o = i2%

5080 thousandths

4.7

20om

b o 800om?
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Schofield & Sims

Jamil received 12p change from £2
after buying four tins of tomatoes.
Find the cost per tin. .

The diameter of a circle is 15.6cm.
Find its radius in millimetres.

The mean mass of threa suitcases is 25ka.

if two of the cases have masses of 20kg

and 28kg respectively, find the mass

of the other case. ) {¢

Which of these fractions or percentages
are equal to 0.157

1 3 s 18
7 35 15% 35 00 3%

‘ 3

Find the smallest sum of money which
must be added to £2.45 to make it exactly
divisible by 9. R 7n

The chart shows the percentages
of adults and children who live on a street
of 720 people.

a What percentage are girls? a._ 409

b Find the total number of
men and women. b ist

boys girls
35% ?

women
13% 12%

men

A 12-day holiday started on Friday

26 March. On which day and date did
the holicay end? . iugsday 6 Apri
A bath when % full holds &0 litres.
How many litres does it hold when

b 2 full? b 72

fa1)
i

1
a g full

The price of a ticket is increased from £1
to £1.18. What is the percentage increase? _ .

The radius of the inner
circle is 56mm and
the shaded ring is
t6mm wide, Find in
centimetres the
diameter of the

outer circle,

The dimensions of a triangle are base
15cm, height 12¢m. Find the area of
the triangle. BB’

a How many cm cubes fit exactly into

the bottom of the box? afsx .
b How many of these layers are
required 1o fill the box? b &

Bem
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5x 10% =

2.805l= ml

£0.07 x50 =1

44mm + 28mm + 32mm = m
& of 640 =

1%kg - g=12kg

{025 x4)+100 =

a%=TmE o %
ba=to=" %
046+ =0.505
3m4demx7 = =m
£34 + 8=

How many fifties are there in one
hundred thousand?

1 tonne = 1000kg. Write in tonnes
a 2050kg
b 800kg.

Write 59-sixths as

& an improper fraction

b a mixed number.

Find the missing numbers in
the sequence.

365,38 395, . .

Find in degrees the difference between
the temperatures 7°C and -8°C.

100 pencils cost £7.00. Find the cost of

a 1pencl b 30 pencils.
A B Find
/127° 53°
£ ADC
parallelogram J BCD.
D C

What percentage is

a £7 of £20
b 28kg of 40kg?

How many days inclusive are there
from 27 May to 9 June?

30% of a sum of moeney is 27p.
a Find 10% of the money.
b Find 100% of the money.

Divide £2.00 by'7. Give the answer
10 the nearest penny.

Which year is represented by MMXIX?

20060
a 205 tonnes
b .. 4.8tonnes
a s
o
b 98
41 425
rg:"O
a p
b £z10
53°
d27e
a 35%
70%
14
a 3B
84
25p

10

12

SECTION 1

The population of a city increased from
% million to 1.1 million. Write in digits
the number by which the population
increased.

A box of doughnuts weighs 400g.

& How many boxes can be made
from 3.5kg?

i How many grams are left?
In one week Mark drove 503.6km.

Find to the nearest kiloemetre his mean
average daily journey.

Which of these numbers do not change
in value if the zeros are omitted?

0.740 3.016 0570 0.364

The perimeter of &
regular pentagon is
36¢m. Find in

© millimetres

a the length of
one side

& the length of one side of a regular
octagon of the same perimeter.

In a test, Luca scored 87% of a possible
mark of 200. How many marks did

‘he lose?

Nadeen’s date of birth is 20/04/14. She is
1 year 9 months younger than Emma.
What is Emma’s date of birth?

ABCisa
right-angled
triangle.
Find the
i exterior
ri angles
B marked
xand y.

e # age

/X
C "

1l of water has a mass of tkg. If a jar
contains 5650ml of water, fi1nd the mass
of the water to the nearest 3kg.

William's wage was increased' from £120
to £132 per week. Find the increase

2 as a fraction in its simplest form

b as a percentage of the original wage

The mass of an empty box is 870q.
This is 75 of its total mass when filled

)

with fruit. Find its total mass in kilograms.

A roll of carpet is 50cm wide, Find the
length required to cover a surface which
measures 8.5m?.

Test 6

s

F2km

G

 2.9kg

LAdm




